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CHILD DEVELOPMENT
A q;ﬂ AND PEDAGOGY
There are 30 questions in all in this section
All questions are compulsory. |
¥ @UE F Fe 30 gy £ |
vt wv aifard §

(\Xl;lcl})of I;Ihc. tbllqwing 1S not a characteristic of Dyslexia ?
Cm ¢ms with reading accuracy, speed and comprehension
erainty as to right or left handedness
(g) Si_m}- rate of writing
(D) E:;f;;;:mv in leaming and rcmcn;%cring printed words
(Dyslexia) ®i favmar agi 82
(A) e ufeggen, nfa @ar @t @ wwam
(B) ﬁumgﬁémmm%mﬁhm
(C) frm #i it nf
(D) w&ngﬁﬁmahmmaﬁm

Powerful motivation is eftective factor of leaming
L(Lé’)}hild becomes healthy e tthm"{r;ﬁ;:s meditation
Learns rapldl“\'wT . l(DJ Feels happy
(A) 399 9% @Y AR | (B) @R &g |
(C) witg e & | (D) VETwEAE |
Craft education be given to
etarded chilld (B) Backward child
(C) CO;‘;%C}'"M X (D) Gifted child
getoTe HESICH "t'.'li?[?_
(A) w=Hlg aeiF H -(B) Teg aws #i .
(C) | & # (D) W& qfg a1 B
How will you eradicate stealing habit oanls ?
(A) Giving rewards Through example
(C) Scolding o (D) Punishment
BT § G e e A A g7 e o 2
(A) areren! @ qifaie 3ad (B) FETET I
(C) are 2a (D) & TEH

In the identification of the gifted children we must give priority to

(A) The Parents’ opinion
(C) The teachers’ opinion

The result of objective tests
(D) The community's view point

| qad s wEe
yferrara arers! #1 TEE H & o # (B) aﬁﬁgmtqﬁmﬂﬁhaﬂql

(A) frasi & we @i 21 e |
(C) Toreras & Fofg @t 2= =nfeT | (D) WEE&

2 3 indi thod of Tension reduction ? .
Which is the indirect me 0 (B) Removing the Barrier

(A) Analysis and Decision oving
(C) _Substitution of other goals (D) _Sublimation
et & @ i W A @ BN B o s a8 2 A

(A) favetau ik Fofa (B) TEE BT HFA
[ (DY ST

New Section 1 Page 2

feramt @t 3 T |

P.T.O,


https://rjbresult.com

7-
..}

@)

Right of Children to Free ang Compulsory Education Act, 2009 was applied in country
(A) 1™ April, 2009 (B) 1% April, 2010

(O November, 2009 (D) 1" November, 2010
WW‘W@WMWW 20093 A A I

(A) 1 3=, 2000 1 (BLAT3mi, 2010

(©) 1 7@m=R; 2009 (D) | Fawy, 2010

In NCF 2005 the objective of including Art Education in school is
(B ) To appreciate cultural heritage,
(B) To develop students, personality and mental health.
Only (A) is correct,
(D) Bot (A) and (B) correct.

NCF 2005 5 % femem a5 fereere o sivg oy st &
NI i —

(B) mﬂ%mﬁaaaﬂrmwmm}ﬁ#aﬂml
(C) #Fam (A) wér i |

MM(A)#IT(B}HM'

9.,/ When a test measures an individual’s ability consistently accurately, then that test is

Bo

known as

(A) Validity 8] Reliability

(C)  Objectivity (D) None of the above
mmﬁﬂﬂmmmﬁémﬁﬂﬂ&mﬁmﬁaﬁmtmmﬁamﬂ_mhj

(A). v (B) favargeitaar
(C) axfrem (D) I9ga | & 51 74

10 In _ the role of measurement 1s to provide an overview or achievement across a
number of skills,
(A) Formative evaluation (B) Summative evaluation
(C) Diagnostic evaluation ) (D) None of the above
- ﬁmﬁqﬁwmﬁaﬁémﬁﬁﬁwmmwm HaAlHT A E |
(A)  Frefomees geaie M4BT arTenE gediE
(C) Frerens gegiaa (D) 394w ° | & 35

11. = Research concemed with social problems carried on by the school personnel to improve

~ school practices is
(A) Fundamental Research (B) Action Research
(C) Social Research (D) None of the above
S i W FE # watud g & qu fr @ st & e frae F .
el & uR & Farfer fear e &, FEATE | -
(A) gifera Slﬂﬂﬂ!q | LB#' ERIGE EEULIE]
(C) s STEE (D) 37w | 4§ #ig
-hievement tests can be given in .
1 2. AL)hle[:,,o ways (B) fourways  (C) six ways (D) three ways
N e ol o WA & .
() @wRE (B) TLHERE  (C) T WHRE (D) o w#R

\
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13.

14.

15.

16.

17.
-

(5) Y
By motor development we mean the development of in the use of arms and legs.
(A) Mind and Spirit (B) Learning and Education
(C) Training and Learning (D) Strength and Speed
e fasr | s e Aiedfeat & fawr @ o 89 ¥ sfaw 3wEm -
(A) wferss ai apem (B) st afir fer
(C)  whemor i s 4B Wit 3 if

“The twentieth century has come to be designated as the century of the child.” This
definition is given by

(A) Murray (B) Adler

Crow and Crow (D) J.B. Watson
valterdll et T # v we o & g R A
(A) gt - (B) TS
(©) wam (D) W, FeET

This stage is also called a period of Pseudo Maturity.

(A) Infancy (B) Childhood
(C) Adolescence (D) Maturity

39 g &t foer ey (Pseudo Maturity) &1 @97 ot ®g1 S & |
(A) Vreramar By e

(C) Topemrassy (D) vitgreren

The origin of human life can be traced to

(A) Two cells (B) A single cell
(C) Many cells (D) No cell at all
U Sfta H AW gera: uied ¥ -

(A) =% LAB) e uF #y
(C) =i (D) #i§ & e

Characteristic is not of infancy.
(A) Rapidity in Physical development (B) Dependency on others

(C)  Full of morality (D) Rapidity in mental activities
v # favtwm Wy
(A)  wriifess famrg = digar (B) z&d w Fkan

Aferaen @1 g (D) wrfaw famwr o diear

P.T.O.
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19. What is thinking ?

22.

A

(A se of Symbols (B) Use of Language
C) Perceptual Process (D) Concept Leamning

e wndr

(A) wetsi 1 wah (B) ST T W4T

(C) wirahses i (D) wwEy e

For which category of subjects are the detour problems used ?

(A) Children (B) Adults (C) Birds (D) Animals
TR T s H I9di e St % watedt & feg faar s # 2

(A), == |,¢Bq/ 14 (C) fafear (D) W

The name of the theory advocating sudden solution to the problem is
(A) Operant learning (B) Theory of insight

(C) Trial and Error theory (D) Conditioning

T % I9HF GONE $ awield 3 a fGera S A e

(A) whiwgrens s t B gw w1 fagra
(C) v ud s & fagra (D) 3FEYS

“Sensation is a gateway of knowledge.” This statement is

Mental Development (B) Physical Development
(C) Attention Development (D) Language Development
“HATAT A ®I Ugel digl & " T8 TG
(A) wrfae famm & | (B) wniifeas g &
(C) e & fawm e | (D) vt & famrg &

Which of the following is the correct levels of leaming ?

(A) Facts, Knowledge-how, Information, Comprehension, Wisdom.

(B) Facts, Information, Comprehension, Knowledge-how, Wisdom,
Facts, Information, Knowledge-how, Comprehension, Wisdom.

(D) Facts, Comprehension, Information, Knowledge-how, Wisdom.

ey | | I die % W W E 2

(A) T, ST IR A, G, A, T

(B) @, eI, &M, F A AL b

(C) . o, A, T A e, A, T

(D) =&, |1y, g1, T W FE1, 55T

Change in behaviour due to maturation etc. is also called learning. -
(A) No (B) Yes (C) Undecided (D) Sometimes

ot Seaf & SRR 3 I o ol S ey |
(B) @ (C) Hfega (D) it
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N
What is the number of personality traits analysed by Cattell ?
(A) 13 (B) 15 (€©) 16 (D) 14
¥t gr favelfaa fd 7w safseear vienpol 1 ey feat & 2
(A) 13 (B) 15 .16 (D) 14

Murray created the history by constructing a test, what is that ?

25.
(A) Ink Blot Test (B) Sentence Completion Test
(C)_ Thematic Apperception Test (D) Ratmg Scal
U witT @1 7T e g 19 e, aw &
(A) EEt waar giegor (B) @&y t[ﬁl Sriu
: Seqa Theor (D) Heia At
26. The Practical Intelligence is called
(A) Concrete intelligence (B) ADSsIract intelngence
(C) Cogmtwc ability (D) Social intelligence
ERE g H Her s &
Lexr ot o B) i g
(C) HsTIeTH g (D) wmfae gfe
27. The number of factors of intelligence according to tridimensional theory is
(A) 90 (B) 110 (C) 135 (D) 120
qfg % fsmand fagra & san 9fe & seel & 9@ ¥
(A) 90 (B) 110 (€) 135 _PYT120
28. The object in the environment which an organism tries to attain is called
(A) Reinforcement (B) Motive
(C) Stimulus (D) Incentive
ufiawr &t s fad wmoft wre & &1 warg S & w6 ot §
(A) wae BT
(C) 3w _ (D) wein
29. In Individual difference we find
“ (A) Variability (B) Normality
(C) Both(A)and (B) (D) None of the above
SfarTTa 9T | 89 I &
(A)  fagereiean (B) wiemran
_He77 ZHl (A) 3R (B) (D) 39 & } i
30. Meredith’s study has shown that children of those families are in general
at a higher social level.
(A) less healthy and developed (B) more healthy and developed
(C) more healthy but less developed (D) not health but dcvelo
wifew & g & UK W HET AL THAT & 16 THE FY
Wit grfs e A SR ¥ |
(A) =0 @ e famfaa (ABT aifus @y ud fasfaa
(©) ifuw @ vd & fawfga (D) wawg & W famwfaa
A
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HMCL/_L qus- I
yrar - |
fe=t
W FA N TAE |
ot v afad & |
31 R A A o e e A e
(A) et arg= (B) a0 A
(C A (D) TRETET AT
3. B e e EE AR
L’(f)(?ﬁ'ﬂﬂﬂﬂﬁ (B) il e &
(C) s wH (D) &l A
33, ‘uneie dfen fews @A g2 ¢
(A) TH= (B) fem
A (D) f=x
34, ifed @ ds B @ g A G 8
(A) TG (B) femarsi=
L}gyéw.fmiét (D) o i
35, Ferarery Far A UE R 2
(A) T4 C]
(C) FaHA (D) i =
36. mﬂwﬁhﬁqﬂwﬁmfﬁmwknﬁwmqﬁmtmwmﬂm
'\/(M/étxqﬂm
(B) fergaraTg TR
(C) awfTe e
(D) Fe T T
mmmﬁmmmmmt

37.
(A) Frotey wiaet areinfel 1 Q0 A H WO WEH B |
(B) W @ e Fuife |
(©) Tl F HieTEal BT RO HE |

Sgaa |
38, a”f.a"f.inwrﬁi’fﬁmﬂsﬁaﬁnﬁm#ﬁmﬂmﬁaﬁaﬁaﬁwaﬁmﬁ?x/
’ 91-100 (B) 81-90
(C) 90-100 (D) 71-80
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39 foreor 1 SV & v

(A) Ol @ Ffedt T T
(B) fawa & wia & 379 FT |

ot @ s [T HE |
(D) ol @t wifd &1 37 e BT |
40, ?ﬂ.ﬂ.mi.(casﬁ)#Mﬂﬂlﬁﬂﬂéﬂﬂmﬂmﬁﬁmmmmwﬂh —
(B) @ 2009-10

2010-11
(D) @t 2008

(C) a4 2009

mm%mwmmuﬂdsaﬁ*mﬁwz
ﬂi?ﬁﬁﬂhﬁﬁﬁbﬁ*ﬁﬂﬁﬁ?mﬁmﬁﬂﬁ@.ﬁwaﬂﬂﬂﬂlﬂﬁﬂ,

spanafas 3T G a4 @ |aﬂ:ﬁmmﬁmmﬁ$wﬁaﬁmﬁﬂaﬂﬁmm
Wﬁqlmhﬂmﬁmﬁz-m,mmmuﬁhﬁaﬂmﬁﬁhaﬁmmmﬁmmﬁ
w29 W WA ¥, e A g faes @ site 3 T A e @ e W SR
7@ |ﬁmaﬁmmwimmmm,mw | 3T AT FRI A g
¥ et e a6 e | @ e faeier 9 |3zﬁfara‘nﬁwa?mmmﬁviammmﬂﬁfmn
ﬁﬁmwﬁ%ﬁaﬁaﬂqmaﬂt@aﬁ%maﬁtﬂmmmﬂﬁfﬁm | &t B B
ﬁdm%mﬁhﬂﬂﬁm% 131ﬂ%mrrhﬂ=ﬁaﬂrrﬁaﬂa’lfﬁmmﬂwt | Al & fog

mm%aﬁtmuﬁmﬁmﬁm:
41. ﬁﬁﬁmahrfﬁhﬁwﬁmﬁ%? \
‘ Mﬁﬁ*ﬁmﬂﬁﬁﬂﬁfﬁm:
o uryifae 9@ @ g H |

(©) 3% AR SHfea # I E |

(D) @ e faia 4 |
42. ﬁﬂﬁmﬁﬁﬁamaﬁam%? e
Al W (B) 9%
() faers Dy e
4 ﬁﬁaaﬂammﬁ&twm?ﬁi? / .
(A)-ﬁﬂl'( (B) F&Ed
(C) ®EER Dy amfE
. «sreamas” T § T § w2
dp)/:mﬁsﬁtm (D) Fygtt i g
P.T.O.
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45. /%0 Pt oo ot s s g 0
(A) e wivit & (B) e Faw

(O it v (D) T HOT

Frfefen min # et g 46 | 50 7% % I Q1T :

e a1 S e ik e | e g & oo e e A
T et et Jw vz | aw awe ot oh e e dawr) ol @ AR T T | A SR
T 35 5 0 gt . o g e e TR | v O A O S 48 S | T
W % G fien 3R R St 3 dra Ton e | a9 o st g a & 1 T | @ 39 3BT
B 2 T o | S A e @ T T s e o a | a e o ol 3 SR
I TE B ¥

46. FHAFBA WU S A E?

|

(A) fefa (B) R
(€) wmw D) Wi
47. 9/ FH G VR TS W & Y TGH €4 W 8 agaad § w9 agerd 8 2
Ly e (B) T&®
(C), ar (D) =@
48. ‘A g @t Erd at 0 e T e ved 1 g e wwm o g 0
(A) S ¥E \/‘Bﬁ’iﬂ*ﬂ‘ﬁ"iﬂ
(C) 3o s (D) 3= v
49, 7 @ ar v wansd Forwet aa svan fom et ot ofkfeafe F 56 agem | -
T Fe By T
() & (D) faf
50, ¥ | qfeenT e SR |
T (a) wmiR (B) #mwm
LSy T (D) @t
5. « ST A TR @ 1 - 9% I e e g
Wﬁ; (B) wgara®
() faur (Freaa) ar® (D) Wehaaras )
sz"' iy argr i Frerir g e S g & 1 - ¥ A H It i fo v
" (A) P (B) e

e/ s (D) TEF
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53, MFINRWARM ST EA TR FI A2

(A) fawmas (B) faurmis
!Q’ |i'|ﬂ (D) w¥TTHE
<

54. und mfwr & forg suge qeEa & 0
(A) afom & ars \_(B)—Fe T
(C) Fatamt (D) ¢ # e

55, o d wume e &

C O (A) @ R ae w guEE A |
(B) W ¥ TgaT @l EaiEdl #d § |
[C) ¥ A A o758 1T Al £ |

kwﬁﬂfﬂﬂﬁﬁtl

56. vy g famdsaend
(Ay & (B) UH
© QDNUS )

57. sirar v &1 w@mfas i gArdeE w9 €
(A) g, g, feran, @
(B) @i, fevaan, =1, v

(D) Ivga |

58, wrar fereor & fagra &

< (A) wom # faer
(B) foan g W & fagr
(C) = & sirg =1 fagr

Mw’r
59, s < (heren fare fo o wwE
(A) Y& ISR & WreAd d
(B) fefy @ act @1 @& 7 T
(C) /& T &1 T HUH
I |l R A

60. To oo F A FIEAE ¥
(A) g (B)

D) 9
M N o3 P.T.O.
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\(, LolS— L SECTION -1
LANGUAGE-I

B/\jl - T ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

31, The best sequence for learning English language is
(AT Listening, Speaking, Reading, Writing.
(B) Speaking, Listening, Reading, Writing.
(C) Listening, Speaking, Writing, Reading.
(D) None of these.

32. A language has to be
(A) Phonetically correct (_(Br~ Grammatically correct
(C) Alphabetically correct (D) Systematically correct

33, Flash cards are useful type of

(A) Audio-visual aids (B) Audio aids
Uy Visual aids (D) None of these
34. A good text-book of English should possess
(A) Reading material (B) Pictures and illustrations
(C) Cultural content UPT™ All of the above
35, Itis of great utility in teaching English pronunciation, accent and intonation
(A) Epidiascope (B) Films '
&y Linguaphone (D) Radio

36. Latest scheme of evaluation outlined by the CBSE namely
(A) Comprehensive and Continuous Evaluation
BT Continuous and Comprehensive Evaluation
(C) Continuous and Communicative Evaluation
(D) None of these

37. To cover all course in minimum time, which type of question should be askeq 2
(A) Short answer ﬂjwﬁ“ type !

(C) Essay type (D) All of the above

38. Unit test is an expression of

(A) Effective Evaluation By Formative Evaluation
(C) Summative Evaluation (D) Normative Evaluation

.

New Section 1 Page 11
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39.

40.

41.

42.

43.

45.

13)
Y

Pronunciation of students can be tested through type questions

(A) Essay (BonNUS (B) Objective
(C) Short answer e (D) All of the above

Oral test and Examinations are intended to test
(A) Reading (B) Comprehension

(C) Expression o All of the above

Read the passage carefully and answer the questions that follow :

Prose Passage-1 (Q. Nos. 41 to 45).

People in the villages of Rajasthan lead a very simple life. Their way of living has not

changed over the years. They live in circular huts. The walls of these huts are covered

with cow-dung. Every hut has a small place for worship. The life of these people is full of
difficulties. It is very hot in summers and cold in winters. Water is a major problem.
their agriculture

Sometimes they have to walk a long distance 10 €
ple are very brave. They h

{ drinking water. For
ave leamnt to face difficulties

Women like to wear dresses
dition of music

they depend on rain. But these peo

ose hope. They also like to enjoy their life.

and they never |
full of bright colours. People living in villages in Rajasthan have 3 nch tra

asthan arc very proud of their culture.

and dance. The people of Raj
Which of the following words is synonym for ‘brave’ ”
(A) Hardworking go N, U (B) Prosperous
(C) Valhant - (D) Enthusiastic

The antonym of ‘bright” 18
(A) Colourful AB) Dull
(C) Transparent \}D') Dark
Which of the following words is correctly spelt ? ‘
Immediate (B) lmim_odlatc
(C) immedieta (D) Imediate
th the word

“Thei - ing" can be replaced Wi
Their way of IVing By liveliness

(A) livelihood |
(C) lifelike P lifestyle

Find the correct 0n¢ word for the phras¢ given below:

‘ ide of a pation’

Coun:?:al e ® U.«ba:_mms :!
(C) Nation (D) Inhabi 2

ik A
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46.

47.

48.

49.

(14) e
. -2
ead the passage and answer the questions that follow :

Prose Passage - |} (Q. Nos. 46 to 50),
Most children start watching television long before they enter school. Many doctors

have come to the conclusion that children up to the age of two years should not watch TV.
The doctors are of the view that the first two years of life are very important for the

development of a child's brain. Spending time with parents and others encourages
leaming and healthy physical and social development. As children get older, TV can be
watched to a limited extent. Children preparing to enter school can leamn the alphabet and
numbers from educational programmes. They can also leam about wildlife on nature

shows. TV can be an excellent educator as well as entertainer for children.

Both the words *Children’ and ‘Entertainer’ are
\/l{) nouns (B) pronouns
(C) wverbs (D) adverbs
The verb in the clause ‘they enter school” is in
(A) simple past tense L/(B*)/ simple present tense
(C) present perfect tense (D) present continuous tense
Which of the following has the three degrees of the adjective in their correct form ?

(A) Poor, more poor, poorest

(B) Important, most important, importantest

l/(,Q)’ Old, older, oldest

(D) Thin, thinner, more thinner

In the phrase ‘a good thing' the determiner used is
(B) thing

(A) good
LME’

(C) athing

Conjunctions in the passage are
(B) about, and

Mal. and
(D) about, also

New Section 1 Page 13
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51. Which of the following sentences
How long will you take o ﬁ:?:hﬂ;;? ork 7 ure of question ?
(B) How did long you will take to finish your w:;rk ?
(C) How long you take to finish your work ?
(D) How long you will take to finish your work ?

52. The passive voice form of the sentence - *She will write a letter.” will be
(A) A letter will written by her. .
\?)/ A letter will be written by her.
C) Written a letter will be by her.
(D)  Will a letter be written by her ?

53. The passive form of the sentence — ‘Who will help you 7" will be
By whom will you be helped ?
(B)  Whom will you be helped ?
(C)  You will be helped.
(D)  Whom will be you are helped ?

54. Consonants sounds are
(A) 26 vm( 24
(€) 27 (D) 28

§5. Phonetic symbols are
44 (B) 40
(C) 48 . (D) 52

* §6.  Which one of the following is not included under the principles of English teaching ?
(A) Principle of Natural Process
(B) Principle of purpose
Principle of uprooting from culture
(D) Principle of selection

57. The criteria to choose a particular course for particular class is called
The Principle of Selection (B) The Pn:ncipie of Gradation
(C) The Principle of Proper order (D) The Principle of Motivation

58. The unit of teaching in Direct method 1s

A) Word _B7 Sentence
EC; Phrase (D) None of these

59. Alphabetic method is also known as .
(A‘)) Word method . (B) Syllabic methodhod
LT ¢ Spelling method (D) Phrase met

i les ?
60. In which method teacher states rules and gives exampH
(A) Inductive method Deductive method

(©) Translation method (D) None of these PO

New Section 1 Page 14
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. (16)
(SC’MS@(&:L e -1
HET - |
Hepa,
mﬁmm:aﬁan
'«im:m: !
fwmm—
(A)  =aom
LABT o
(C) W (D)
32, mmmqmafw:
(A) vamyg: (B)
TEy
T Ty (D) fam
33, WA HrevEE s -
AT & IRy (B) awgomn
(C) wiieafraromy (D) WEF FANER

34, wwpatenot Hift uamonty vty wfa 2

(A) Fae1 9oy ITHTY

(B) Fast gwaivasonfy

(©) fefor \)Dﬁ/qwmﬁ
35.  srfawfmar faua, wfa -

(A) rafy: (B) femifafy.

(C) o vd Frrafy: \ Dyt
36. TEHATTHO TIITAREIAH, S -

(A) TR By~ vawg:

(C) Faam (D) i
37. dapateet sagd fdm: 642 add

L (A)—avEa; (B) Tveraw:

(C) v=r=a: (D) 4Faa:
38,  WEHAMIRE @R Hi -

(A) 919 (B) MYHE

N(® SRR (D) AHFA

k
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ST-2 a7 Y
39. WY aifuemadeET g e
(A) gy B i
(C) fFammin (D) = faamrag=any
40. ‘gFaEt o &= wafaar 2
(A) Te=ZYER Heedy (B) U Titurer Tt gry
(©) 3. gHtfem et grr g
st srafer maien smrtige Frefefanr. S (41 - 45) SN -
ﬁm:ﬁmzm;mqlmnmﬁaﬂﬂiﬁ*amm:mm};ﬂaimwn
U Favre et o sragam - ang | sl ddaET 4T 7O | HEUTHAN: HTHHA -
ﬂTélqlw:ﬁu}:mmm:mmmaqﬂmﬁaﬁmmmmm
ygeaT deaTET wreer |
41. ‘AR $EE wartaE: Afe
AT e ¥ faer @ (B) W faw:
(C) e fuedd (D) wrE! faet
42. ‘yEr I9A & UEE WG 0
(A) = (B) MY
(C) = Wk
43, ‘drdaEd’ 3w & faf. 2
(A) wet By At
(C) vt (D)
44, ‘HU 099 I i —
(A) g FHR ) weEw
(©) g T (D) g FHR
45. “saUIEER: SR G A 3 Faeer s -
(A) HEUHAR: (B) ™

P.T.O.
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aﬁmamm%m (%-so)m: i
e It fefer fearert amy s add | @ fefred: | ﬁ“'in'g: W |

i w1 vt @ fragrarr: TRAET; WO A :
Y d: ﬁﬁmwﬁamaﬁnwmm!ﬁ’“ 'ﬁwmaﬁ !

. ST I0ge- e, ST | g e ofe T 1

46. Tefer seafer @ @ faifee. 2 P a9 0

(A) et - gwaey (B) fieftar — waTT

(C) v - fyaay \_/(m/ﬁaﬁ—m
47, wela I whufad gew -

\,()r)/n'dr«»m (B) W&+ T

(C) we+w (D) %+ &a

(A) Y (B) dfae

Oy (D) e
49. s 3 v s aiadaa -

(A) 3 BT S

(C) = (D) #=f=

(A) B (B) Fm

) f M

51, sifefadamEs araafad o
(A) W4T uE: T | —— (B) #War umy W |

(C) war W W | (D) W WM Ty
52, i HeNEd -

(A) | 'sm'l[ ﬁl‘ﬁ’T| (B) CIGR W ﬁﬁf—ﬂl

f/ge)/m:smiﬁ‘?‘“' (D) @@m. g b
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ST-2 (19)
53, tanfewd weH sifuse geafami swofag -
ﬂ]’.‘?ﬂﬁﬁ:ﬂﬂ’al
AT (B) fay
(C) wfEr (D) ®
54. Fraerar qfgen gfea daimaa -
‘iﬁ—ﬂﬁﬂ:m ...... |
(A) wd (B) ®@
[ i (D) i
55. awfadl § Fferer e ¢ sn A e A 66 -
(A) ®a: #iferems. e (B) fa #ifeera:
(C) waar: Hifemm. g \/;[}ras’r‘aqaﬂfamﬁe
56. HIEETE HI: Gl 7
(A) oy N
(C) w=for (D) fovmarganfor
57. ‘gfa + anfy sea wfw: &
(A) ’]W?iﬁl: (B) gfgsfu:
(C) 3Iqqedmy: wo)/umfﬁ:;
58. wwpatmvRg IRval afa
(A) RAHG: T (B) ¥&T=aRYH
(C) TRoTE: @ BT ol
59, wwpateoRE ArdiTEfT: ddd
(A) WUBHEITEI: B Tt
(C) TrREAETEHIEI: (D) FrTUTTETa:
60, ifEsuderar. i &=
(A) TSI (B) ¥y
() s (D i
P.T.O.
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62.
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64.

65.

(36)

gqug -1
"rer-11
fe=ht
WA H FH 30T |
oft we s &
W 3 et 9 e
(A et (B) *HIF®
(C) g (D) ¥FHH
'mz-mmmﬁd\m'wama&t_aﬁm\/_g_
(A) Tafi=t afegt & swer by (B) um &t & fafir=r wrel & wrft o
(C) U & W F @ (D) Zw-fadwr %1 A oE FT |
8 30 g | faen a1 et e @t v ot 1 - 9w Ty
(A) TETE | L/esfﬁmamtl
(C) HgwaEai | (D) wefare ar & |
* I e TEIEA aret 3y i faeed Q95 e o - Yaife way
(A) Farvgor geey By ¥ ey
(C) dam ygay (D) Frar ey

w3t 3 G A1 QIE-AT% ®8 & (" 9 ¥ 9G-Sy &

(A) faemafeates (B) weyatys

oy T fadaor (D) TS

fem faf

(A) v faf & | LBy e &

(©) %W a (D) T B |

it i il e & 2

(A) TETHAEH (B) & R T =
(D) WWH
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(D) WWH

yﬁﬁqﬁﬂtmw
: i areres s e €
68, wifies e R (B) ﬁﬂmmﬂiﬁ":‘;
(A) z":‘" pidgidubiches (D) e, s, Pl
S

ST-2
69. mﬁﬁwtﬁmhmmt on

( Ny (B) v fafy \
(©) fhaaﬁqwfaﬂr (D) 3
70. 1 3 ok s forg s &
A) ez (B) ey
7L W A @ A g
AR) T gy (g s T O p—
(C) &t ¢ fopera 1 wguaim (D) wmiifes ghe
72. " URER | e St wmr dhg s d o
(A) wifes s (B) fefiae vmar
ACT aterarer ey (D) =¥ &
73. maawﬁaﬁmﬁaﬂmﬁqmmm&wuﬁﬁﬂmmwnmt
(A) Treu-fgy & omam @ (B) *eE & mremm |
eT ufreriy % mam | (D) A wer & wraw |
74.  qvE-ged v i smavasar e 4 @ few fafa & fee sravas @ o
(A) wwELEaE fafy AB) = fafy
(C) o fafyy (D) IR wit
75. fre | | weifue anodt @ &
(A) e (B) 3 wistaer
ey e (D) Foer s

76. Foreror o wad wevaqol @t &
(A) forea Preeer By 3w e
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(A) fawg Frafor By ke P
(C) farg Frafeor (D) o Pl
77. W i & kvE A9
(A) d= (B) W
ey d@= @ &=
&
78 mmmwmm*mmmmm
(A) fer wden | 0% ﬁfm
(C) wgfameq gl (g P.T.0.
y (38) ST-2
79. P # vl fafy & ver A £
(A) T A 3
(C) =W (D) @

80. fomnfaai % waq vd wow g (CCE) W et s fear man
LAK) T fomar =ife, 1086 o (B) wow gty foren iy
(C) wRifeaT st =t fawfor o (D) 3% 9 9 HE @l

FrAfefiaa merter % R v wee dem 81 | 85 T & Iue AT -

T A A WRA F uE T RaE @ e e @ gty g ¥ I A WA
WG UB1 § it ¢ HwarE @ fanfa @ e 62 e aw gt 3 e e @ e @
fear & | el Wt we Aot At @ e F A A @ At afg o arggen & fee o wE e
& | 39 I WHR I HW A G A A s A @ E | aged gd s, s w e

W T A T F G H BRI ¥ | 7w gl wEn & e g s ¥ R
g&il 3 A 1 i e s W W g

81. Ivde e # Aeve v &
AT gl
(€) Iy

o Do — L

(B) dfg
(D) wemo
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(€) g D

82. ¥ vres & Fiff agara v ¥
(A) ITREm [ BT
© g (D) W
83. o fawior &
(A) 091 el of (B) gl # dfrmfvat
84, Frferfiae § gt favio & .
Wﬁm (B) e 62
(C) T &t aut (D) =
85. Freferfaa § ® ar 3ol adr v & o
(A) FHARARTHEE |
\_ABY &l ot e wer s ¥
(C) SHEe W ag T BT E |
(D) ER e i fawme & fear i |
ST-Z (39)
fycfefad e & U T W @ 86 - 90 F I H
z@:,qﬂuréa’twnﬁlh!{&'.
S e A HE T, B, WG ?
Bt 1 T g R
¥ 7 e e 3 F T 2
FA WA 4 78 Il TR,

s A A, P

wa & wit g% #r | fang fadre, -
¥ 73 @ @, T W e

a5 %3 7Ew a9 A &,

%7 ¥ea 7 @ g5 T @ |

86. #ﬁﬁmmmmaﬁmﬁﬁmmnmm;’ﬁ
(A) Fam Wﬂsﬁt

(C) AU (D) ®M™
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o D)
(C) @ (

87, IudE FEE A T R
(A) o1 3w fEq A g (B) Fed 3 @ T Indt TR

A zan |
(C) it HE A FE T Mﬁmﬂmmﬁ
' (3
88. ‘w3 THE AW-AE 1 @ G F WA
(A) a3 wwa W @ (B) mmﬁuﬁaaﬂwa:;ﬁu
4T A & 1A w5 wee o | (D) @ Tl & Fred 7 H T |

89. ¥ Wiy A g faan & BoMys
(A) Y@ remgma — (B) sa w¢ ot o o | fae e, |
(C) #! T wea ® &9 HRY | (D) & 7w gerd W 3w e ?

90. ¥® wreai @ e died §
(A) “ERLEE, ggE M, A A vl & SR |
|_By B 3w st s & SR |
(C) “wven 3 Fwven, 3 Fyx° 3T & BV |
(D) ‘g%, 9 W viveq vl # g 3T & H |

P.T.O,
@/030 iy / L2 (40)
SECTION - 111
E’\/(‘] L ISH’_ IL_ LA:I:](:JI:::_"

There are 30 questions in all in this Section.

All questions are compulsory.
6}/ Diphthongs are _~
(A) pure vowel sounds (B) pure consonant sounds
(C) semi vowel sounds | =£P7T combination of two pure vowels
62, Which of the following does not have /i:/ sound ?
z (A) Week “{B) Bean
(Y M :
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- Which of the following does not have A

:/ sound ?
Pz (A) Week -{B) Bean
(C)  Deep Pretty

Pick-out the incorrect transcription,
(A) pool /pu:l/

(B) fool /fu:l/
(C) tool /tu:l/

L_/_&B‘J/' foot /fu:t/

64. How many fricative sounds are t

here in English 2.
(A) 8 (B) 7
2 (D) 6

65, The correct transcription of *thick’ is
¢ (e (B)  /Bick/
(C) /Bak/ (D) /0o:k/

L

66. . Which of the following is not true of first language acquisition ? "
(A) Itis universal.

(B) Itis natural.

(C) It does not require formal instruction,
(Dt requires formal instruction,

67. Evaluation does not ascertain /
(A) the educational standard of the institution.

&)/ the administrative standard of the institution.
(C) the teaching standard of the institution.

(D) the efficiency of the teachers of the institution.

68.  Which of the following is not part of the traditional class-room ? "
< (A) Text-book (B) Chalk

L}G)’ Computer Network (D) Blackboard

69,/ To motivate and create interest amon
(A) Competition
M) Repetition

g children Harold Palmer does not suggest
AB)  Game like exercises
(D) Minimum of Confusion

T —

ST-2 (41) v
r correction does not requirc_ ~f
1}/ E;r)o to attend to errors in a sensitive way.
: to embarrass the leamner though correction.
develop a task wherein students can use langu_age frame.
:;?) :g p:ovide good model of an expanded grammatical utterance.

: . as material for
Which of the following skills will not be strengthened by using text-book ateria
71, 1c

“  teaching? -

o~ bl ulaZMY
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71,7 Which of the following skills will not be strengthened by using text-book as material for
teaching 7 -7

(A) Effective writing (B) Comprehension skill

(C) Grammar skill LT Communication skill

72.  One should not learn English because
(A) Itis the language of knowledge.
(B) It is window to the world.
It is the language of British rulers.
“(D) Itis the language of liberal, modern thinking.

73. The students leam patterns of language by repeating model sentences that teacher
provides. They memorize set phrases and receive positive reinforcement from their
teacher when they perform drills. This method is

audio-lingual method _{B) communicative approach
(C) total physical response (D) the silent way

74. The students take all subjects in English medium. They take part in class and school

¢ activities with students of their age who speak English. This approach is
_AA) task based leaming =~ (B) grammar learning
L)Q)"immcrsion (D) translation method

5.~ Natural approach of learning language was developed by -

Wmshen and Terell (B) Chomsky .

(C) Berlitz (D) Henri Goiuns
Unseen Passage : (Q. Nos. 76 to 80).

First of all, | need work, and a decent wage for my work. Aristotle defined happiness,
not as a sum of pleasures, but as unimpeded activity. I want work which is hard but
interesting. 1 am exceptionally lucky because I can choose my own work to a large extent.

If 1 want respite from science I can go and be a war correspondent, or write children’s
stories, or make political speeches.

. 1 require friendship. Particularly | require friendship of my colleagues and comrades
in scientific and political work. 1 want the society of equals who will criticize me, and
whom | can criticize,

P.T.O.

Y
. (42)
76, Conjunction in sentence 3 is / S1
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Y / (42)
76, Conjunction in sentence 3 is ~

(A) want (B) hard

L/('gﬁ’.‘“ (D) interesting

o

7VAcoording to Aristotle, happiness is

(A) asum of pleasures mimpeded activity
%C) impeded activity (D) hard work

8. The author requires friendship of '

(A) political leaders (B) teachers

k_/((;)/E:Iiow workers (D) young children

79. How many connectors are there in sentence §
“If | want respite ... political speeches.™
(A) 2 (B) 3

AT 4 (D) 5

80. Why does the narrator want work ?
4

(A) To get decent wages (B) To make friends
y To get happiness (D)  To write children’s stories

Read the Poem carefully and answer the following questions : (Q. Nos. 81 to 85).

When to the sessions of sweet silent thought,

| summon up remembrance of things past,

| sigh the lack of many a thing | sought, .

And with old woes new wail my dear time's waste;,

a

used to flow,
Then | can drown an eye, un |
For precious friends bid in the death’s dateless night,”

And weep afresh love’s long-since-ca!:cdled. woe,
And moon the expense of many a vanished sight.
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ST-2 @)
81. ‘sessi i

1 sessions of sweet silent thought" is an example of .~
r-alhteratwn (B) assonance
(C) imagery (D) simile
(31. The rhyme scheme in the poem is
(A) abba " |_4Byabab
(C) baab (D) bacd
83. Which of the following words taken from the poem is an example of personification ?. ,
(A) eye NU (B) time
() love’ s‘go £ (D) moon
84. Pick out the correct example of metaphor.
" (A) eyes like two lamps (_1B)— the ship of life moves on
(C) rosy lips and cheeks (D) as white as snow

85, What is hidden in ‘death’s dateless night” ?
. (A) beloved (B)

poet
Mmd (D) eye

86,/ Fill in the blank with an appropriate *‘modal” :

Heisill. He _ seeadoctor.
(A) can (B) would
(C) could D)y~ must
87.  Fill in the blank with the appropriate preposition.
- Heisangry  me. X
AA) on (B) upon

LLCY" with — (D) at
88./ Elegyisa ;//

(A) praise of a political leader. Mmcnting the death of a dear one.
(C) evaluating the work of people. (D) eulogizing the birth of a child.

89. - The subject matter of this sonnet is |

(A) biography of a person ~~1{B) courage
ALY love (D) revenge
2" Drama differs from poetry as k/
(A) it has metaphor. \_4BY it has action.
(C) it has rhyme scheme. (D) it is always written in stanzas.

. P.T.O.
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V) I Bad INSapnoT, D o =7 BT TS
(C) it has rhyme scheme. (D) it is always written in stanzas.

P.T.O.

ST2

61.  ifvriraferemany vy e add
W3m“ (B) 40450

(C) 32733

(D) 264127
62. SH FvR Ay s
(A) faarei sy, (B) 3w =i,
(C)  3ryavi wiy. Mvhaﬁw
63. 'R:W‘MWW—
(A) ¥ TR
(B) =1 mafy
e &7 mad (D) w1 Mg
64. “wEUm gata :"ﬁmm?hmqﬁaﬁwhua
(A) Furm LB sy -
(C) = (D) sy
65. ‘W AUgEH e vt 1 e i
(AW AvgER Fied e | (B) ¥ avgHT it wafyy |
(C) W aAvgeH 3. yafa | (D) ¥: Fvge alerey wafyy |

66. femyurera wemr add -
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66. femyurera wemr add -

LA T (B) forg
(C) g (D) fomm
67. GG | -
By == (B) ¥@
(C) UusR™ \W:
ST-2 @5)
68. uifoTtaearaot Ty wh
(A) e (B) sAIfHaH:
Mmﬁm: (D) mﬂ.f
69. WEMNTHHT: & 3 2
(A) wiferf: AB) et
(C) HgET: (D) it gifie:
70. ‘USETTH 3 GEE: A
(A) agsife: (B) #HHURE:
(C) f!"]: \W:
71. GEHOIIETRINER JfH B faed -
(A) ZavH (B) u&H
S HET (D) S=UH
72. I GUIAT HH: & ?
AAT AIHE (B) YWHE
(C) H9¥T (D) TEHY
73. wguifavfe: Hiar 3 vafa 2
(A) 3w (B) Hwumd
yﬁrmﬁ'crmmﬁ (D) ofosmared
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y LAl e L S | Rl e B | AT (U= B TR Th 1] .
74, “BTET. U3Y:’ A g, W HfE -

(A) ©E A@HK: (B) g 7@K
O Tafuferg Fr: (D) &
75.  URAATET fata: 3vaEd
(A) THSTITEAYT (B) w@paq
e TreresAias (D) 3
76.  HEargEAE Wi w4 | 2
(A) w LABT &
(C) w@Er: . (D) s
P.T.O.
. i 4o ST-2
77. Wt e wmEmf -
(A) wigame:
(B) wumEraay
(C) ==t ufrest /)) i
78. Wm?lﬁﬂ
(A) BT yvvERE Sy ®B) i
© li'a"""aﬁl’iw Wmmmqmﬁml
79. T Sepew wEy add -
AR Al (B) sty
(C) avgsy (D) e
80. ORI fEF wafy o
(A) BT feframony (B) e g sna
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mmm:umqﬁmmmﬁﬁm:m&ﬁm
aapaarﬁuﬁr | A TPy e ey | a1Y: wewi St gearaty wu-iq?:"iw&ﬁ!:!'
ﬂaﬁfmﬁ' _mmﬁf;mquwwm.mmﬁ
SE: A | A TR F W o ey faf onay | ORI ST o ey o

| I T wisty g i |
JurTa T foafer, srminty o vaf |

(A) ¥ (B) vy
\JQ)/W (D) vgs
82. eIl goud w1 fawfa 9
(A) e g L) et g
(C) Wt agaa (D) vt agarermy
83. ‘IFEIT I & GHE: ?
(A) wgaife: (B) FrwanE
Loy o aegen: (D) FHurg
i
.
| ST—Z. 47) Y
‘_ 84. wﬁﬁsﬁ"mﬂﬁfaﬁtmﬂm-
| AT Tt + sfg (B) wFet + aify
| AO) e 4 Ay (D) wwet + fr
85. ‘UM geuw % Wiy a0
(A) Toref L) i i
(C) 7oy +fy. (D) %
snitfetfiaet siofed waivt smaritge Freme. (86 - 90) wAmAT: —
ﬁzaﬂhﬁqmv&mm
wresit s e ar v |
Fda a1 gronTE g A,

T e wfagata g 7 diwg |

86. ‘F= www w w2
(A) ¥Z &I (RY ®Z H&IT
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86. ‘FEA wEw ww 2

(A) g ww: (B) TRww:
oY e T (D) wgEw
87. ‘wwfawr v A 5%
(A) + 37 + faw + @i (B) m+fﬂ!{+1'ﬂ{
(C) @ + fawm (D) w3 o+ v
88. .m~mﬁﬁaﬁﬁt:mhm
() @+ v (D) W+
89. st ¥ v i fergt vt 2
L}M”W (B) wHtfagt
(© gEfegt B et
90. =z va wfadela aEang dicasi g
Vﬁwmu (B) ] e yferae |
e 9Y: e | (D) v . Sfaaer |
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ST-2 - .
SECTION — IV / @UE |V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and IV(b)
Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

79 @Ug § 3 IEve 9l 1V(a) nfvra aur fams o 1V(b) ST 3nea= & | 21 39Evel
% s | 60 Fgfawedrg ueA & |

qivEedt 1V (a) TioTA e famrr sman 1V(b) aratee s, s =5 AR HETH-TH
3 farar &, 9 @ Forelt wa Sw@vS F g & UE A 60 WEHT W IAIATE |

SECTION - IV(a) / @I - 1V(a)
MIATHEMATICS AND SCIENCE / Tifora aur faam=

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

w&vgﬂ/ﬁwnm% uhﬂmﬁﬁﬂmfaﬂumwﬁmtﬂWuwmmﬁ 1

91. Naturg of mathematics 18

pd It is logical. (B) Itis difficult.
(C) It is omamental. (D) It is not for average students.
nfore @i wHfA & - -
~(A) UE s e | (B) W HEAT |
(C) T% HEHIH € | (D) % i faenfirai & forg =61 & |

92. In which of the following practice teaching helps ? ﬂo ,\fU ¢

(A) To increase leaming tra.nsfcr _
(B) To increase understanding solution of the problem

(C) To develop efficiency use of theoretical knowledge
D) To work quickly of any problem

(D) To q §

(A)

B) e % 6 H A
(©) memma&mmrﬂmm
(D St s & iy @
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‘fg; bt ﬂﬁ‘ﬁ e 5 Farr H
(D) fadt T9& & viw %

D (66)
\)‘ Importance of Action Mathematics is

(A) Direct €Xperience
(B) Learning by self doing

L:;V‘o be permanent and clear of concepts
All of the above

LR ST

(A) v sy

AB) W T3 gy

RS L e p— Td R g
( Q) IR Ty

94. Pant of language of mathematics is
(A) Sign (B)  Number-Number variables
(C) al;unnulac (D) All of the above
foTer ) sy a3y
(A) ¥ (B) ez wy
(€) 9= k}p)/wqaa oy
95. In which subject importance of Mathematics Teaching is ?
(A)  Society (B) Science
(C) Prnciples and Logics (D) All of the above
niforer Foreor 7 o Forrg f g 0
(A) W LeBY e
(C) Togr= wd o (D) 39w wit
96. Suitable method of Arithmetics teaching is
« (A) Project method (B) Demonstration method

\)Q/Analylic method (D) None of these
afeprfore feregor # 3uge fafw &
(A) st fafy (B) ek e
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“ Which objectives achieves a teacher in class-room teaching ?

(A) Cognitive (B) Affective
(C) Psychomotor (D) All of the above
uE e He-ferer § g SR B WA Fr g ?

(A) IS (B) W

(©) W By s wi

ST-2 (67)
98. Importance of Diagnostic Test is

(A) inteaching

(B) in counselling and guidance

(C) in arrangement of remedial teaching

(D) All of the above

e vl & mea b -

(A) Toreor 1

(B) wamghs a7 Frdwe

AC) 3vantens fovgo &t ergen 8

Iy it i
99.  In Mathematics teaching, main role of Mathematics teacher 1s
(A) Philosopher (B) Friend
(C) Counsellor (D) Al of the above
wiforrer Fovsgon o spearues 1 s fier @
(A) wmif (B) fora
100. Suitable method of Mathematics teaching is
{A) _Lecturer method (B) Demonstration method
Inductive-deductive method (D) All of the above
aiforer foraqor @t Ivga fafu &
(A) e fafu (B) weer fafe
~(C) s fam Fafu (D) I i
101. If(wﬁ)S x 92 = 37 % 34/3, then the value of n is
C(A) 3 (B) 2
(C)75 (D) 6
ﬂf{(\ﬁ)jqu = 3" x J\ﬁﬁ,?ﬁnfﬁlmﬂm?
fANn 1 iRy 2
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7

(>

W) o

ﬂﬁ(\ﬁ)jqu=3"x3ﬁﬁ,ﬁt1ﬂmﬂm'?

(A) 3
(C) 5

102. 2v+4y -8y~ 1=7
(A) (1 +4y)(2x-1)
(C) (1 —-4y)(2x+1)
2+ 4y - Bay—1=7
(A) (1+4y)(2x-1)
(C) (1 -4y)(2x+])

Y

By 2
(DY o

(B) (l-4y)(2x-1)
(D) None of these

UBY” (1 -4y (2x-1)

(D) %EH A W A

(68)

103. If3x+ 7y =75, S5x - Sy =25, then the value of (x + y) =
By 17 (B) 16

©) 18 (D) 15

At 3x+ 7y =75, 5x - Sy =25 0@ (x + y) WAA FEM?
(A) 17 (B) 16

(C) 18 (D) 15

104. What is the value of@ +Jm?

47 (B) 56

(C) 52 (D) 35

625 +\[a8a F am w @MY |

(A) 47 (B) 56

() 52 (DY 35

105. Find value of {/4/0.000729 + /0.008

(A) 0.1
(C) 0.06

0.5

(D) 08

0.000729 + /0,008 = 5 @
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YJ0.000729 + 0.008 =1 TF &M
(A) 0.1 (B) 0.5
(€) 0.6 (D) 08
106. At what simple rate of interest a sum is double in 8 years ?
(A) 11.0% BT 12.5%
(C) 12% (D) 13.5%
YT S Hi e 7 | i 9 8 ad | e w2
(A) 11.0% (B) 12.5%
(C) 12% (D) 13.5%
107. If(a+b):(b+c):(c+a)=6:7:8anda+b+c= 14, then the value of ¢ =
LAT 6 (B) 7
(C) 8 (D) 14
aft(a+b):(b+c):(c+a)=6:7:8TMa+b+c=14TFc=
(A) 6 (B) 7
(C) 8 (D) 14

Neena and Meena started a business with investment of ¥ 30,000 and T 45,000

108.
respectively. What will be the share of Meena from the profit of T 1,50,000 after 2 years ?
(A) T30,000 (B) % 45,000
(C) T 75,000 None of these
e 3 AT 3 @Ee: € 30,000 @91 T 45,000 & FrEw ¥ wmw weew fe ) 2 @l aw
7 1,50,000 3 @ ® @ w1 1 S HEW 2 \
(A) 230,000 (B) 245,000
(C) 275,000 (D) ¥ q #E T8
§T-2 (69) v
109, What is the value of :.:‘% in decimals ?
(A) 0.0005 0.005
(C) 0.05 (D) 0.5
! 9
;/ommmﬁaﬁmwﬁm ?
(A) 0.0005 (B) 0.005
(C) 0.05 (D) 0.5

110. The multiplication of the age of Rajeev, before 5 years and after 9 years, is 15. What is the

present age of Rajeev ? -
6 (B) 7

(C) 5 (D) %
it & 5 @t g 3 a9 3 4% H 3 B 15§ | TreitE @ aAA Y 2
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T -
(C) 5 (D) %
uﬂaﬁsaﬁqﬂmmgaﬂmﬁmmmlstmvﬁaaﬁa?hﬁanqwt?
(A) 6 (B) 7
€ s (D) 8

111. In the given figure AOB is a simple line and OC is incident on this. If a : b =2: 1, then
the value of a is

c
d
A et i
(A) 80° (B) 100°
(©) 120° (D) 140°
fga 74 faa & AOB t# ot T ¢ e wfewr OC sfaa ¥ 1afa b=2: 1 & Fawr om
1 g 2
C
d
A ay B
(A) 80° (B) 100°

\(9)/ 120° (D) 140°

112. InaAABC if3 ZA =4 /B =6 £C, then the value of ZA =

(A) 60° (B) 80°
(C) 30° (D) 40°
fpdt AABCH 3 ZA=4 ZB=6 ZCR A LA=7""
(A) 60° BT 80°
(€) 30° (D) 40°

P.T.O.

Y / (70)
113. In the given figure, O is the centre and ZACB = 40°, then ZAOB =

C
A
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(A) 30° (B) 40°
(C) 60° 80°
ﬁﬂﬁﬂlﬁrﬁﬁﬂﬂO#ﬂﬂ!éACB=40°,ﬂ?éAOB=

(A) 30° (B) 40°
(€) 60° (D) 80°

/ . _

1140 If the radius of the circle is increased 3 times, then how )

: . . many

/ circumference increase from its original size ? y times the new
|

) 3 (B) 3
() 9 (D) ;\'oneoflhese
wqaﬁﬁmaﬁmw#wﬁﬁtm#mﬁﬁmwm?
(A) 3 (B) %
< 9 (D) & B

115. A room is 12 m long, 9 m wide and 8 m high. What is maximum length of a rod that can
be kept in the room ?

AT 17Tm (B) 16m
(€) 15m (D) 14m
T B 12 ., 9 o, At o 8 . S ¥ | st afean e o @ d T o v

gHEaTE?

(A) 174 (B) 167
(€ 154 (D) 147,
ST-2 o) Y

Note : The students (in Lakh) who appeared and ratio of pass and fail in different cities
are given in the following table. Read carefully and answer following questions :
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Nole.: Th.e students (i-n Lakh) who appeared and ratio of pass and fail in different cities
are given in the following table. Read carefully and answer following questions :

City Applicants in Lakh | Ratio of Pass and fail
1.25 7:3

314
1.08 E
227 l:
1.85 3:
2.73 7:

TmgQnNw >
U'IN‘.AIU\;-;J

]

Fordwr « fafe=r ol | ua wdtar § 423 aret Iniiganr) F1 de (@@l §) T §EE U @ S e
Al @1 3T fean man & | welliifa s e Fee gt & 3 difad

T Juftzan] ®1 WWAT | UTH T e w1 Al &1

(ATt ) Faa
A 1.25 7:3
B 3.14 ‘ 5:3
C 1.08 | 4:5
D 2.27 1:3
E 1.85 3:2
F 273 7:5

116. How many applicants pass in city E ?

7.

(A) 13000 (B) 1110000
(€) 113000 (D) 111000
7 E @ e # v §1 arel Iniant @ e et § 2
(A) 13000 (B) 1110000

(C) 113000 \),D‘)’HIOOO

Which city has highest number of failures in exam ?
(A) F (B) C

€ B 07 D

e § & €1 @t BT @t waityd den fEE TR 0
(A) F (B) C

) B (D) D

P.T.O.
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(72)
“8: Histogram is used to represent

(A)  Non-continuouys grouped frequency distribution
(B) Ungrouped frequency distribution

Continuous grouped frequency distribution
(D) Al of these

T o o e
(A) 37 anfigsa ariamey des
(B)  3rarfigse qramer dzq
- (C) e it ama e
(D) 399 & ot

Note : Percentage of girls in different schools are plotted in fol lowing graph. Read
carefully and answer following questions :

ﬁh:ﬁﬁﬂﬁﬁﬁﬁﬁhﬁ?ﬁtﬂﬁﬁvﬁmmﬁaﬂwm&mwhmmww

=1 west & 3w et
3000
,. " e []
g o 50 iEzsm-- "5—00 2250
50 2000
%40 40 gfﬂm--
40 s i
z 10 + N rus ;Ef 1500 1250 1000
320 ' 17.5 1000 + ” ”
%10
e S T R A FFe R S T U
P
School / fagmg — School

119. Total number of boys in school T.

(B) 600

o
FEE

fareea TH (B) 600

(A) 500 (D) 850 .
\9/750 k.j

A
ber of students in both school P and Q. 4

120. Average num (B) 1575
(A) 1425 (D) 1625 i
(C) 1450 farefigdt @1 Fiea §E
fargreral p a1 Q H F e B) 1575
(A) 1425 JS D) 1625
(1450 BON/ &

New Section 1 Page 41



ST-2
121

122,

123.

124,

(R 1~ LA e LI L S -

A) 1425 (B) 1575
( N JS (D) 1625
0 O
(€) 145 b —
(73)
What happens when dry slaked 1i Y

Bleaching powder forms me reacted with chlorine gas? -

(B) Baking soda forms

(C) Washing soda forms

(D) ﬂ:{l;ﬂﬂ of Pa;; forms ‘a

I EI € T Y sfufaan airia

(A) ﬁmqﬂmﬁiﬁ e w2
(C) W & =z a5 t 3|

(D) e Hw dfrg a5 @

Who is Father of Biology ? I,}/

(A) Lemark UB«)/Aristotlc

(C) Theophrestus (D) Charls Darwin

it fasma & e S E

(A) mr _AB) 3w

(C) Faunkes (D) wrd wifas

Which one of the following activity is getion verbs 7 "

(A) Tosee \/({)aﬂTu underline
To listen (D) Toknow

fr & & A T wdgas fea &0

(A) Z@ (B) vaifed &

(€) HF (D)

“Science 1s an attempt to make the chaotic diversity of our sense experiences correspond
to logically uniform system of thought.™

Above mentioned definition of Science is given by

(A) W.C. Dampier (B) Albert Einstein

(C) Pt )L Nechru (D) J1.B. Conant

gt s spifaal @ swaera fafrm ®oow adpt faaoore G $3 & waw w®
fasma e & 1"\

fagrr @ Fv afomw 2
(A) s dwim \ ] s s
(C) 1 Aua AeE (D) #al wE=

hic is Child centered 7 »
:;I;uth;::io:lﬂﬂhM (B) Problem solving method
(C) Laboratory method (D) All of these
a7 o are e fafu &2

Lo BB My woaaaE fafy
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(C ) Lat;oralory method (D) All of these

(A) wiree fafu. D R it
& oy P.T.O.
Y
1267 Who has given T - 70
(A) Robert Mifjey " oneacm(nsg)()bﬁﬁm ? :"
(C) Bs. Bloom (D) H&mmpm]wm
() et R |
P ﬁmﬁm (B) w3 urdzdvz 3
' AU = (D) & vy ]
121“’ F:ther of Brafnching Programmed instruction.
(C) B.F. Skmner- (B) Norman A. Crowder
(C)  Thomas F. Gilbert (D) Thorndike
YIEry IR HTHE
(A)  diuw @iy T B 1y
(C) 97 oy, fires (D) wiHzms

128. Which one of the fo

llowing is co-curricular activity in Sci ing ?
(A) Black Board Ivity in Science teaching 7

Science Fairs

(C) Text-Book D i0-Vi .
hﬁ#ﬁﬁﬁmﬁmm&%. Audlqt:ﬁ:fu?_\l_mds
(A) v (B) fastrr dtmr [
(C) wreaqw= (D) weg.gv gt
129. ‘Which of the following is an Audio Aids ? v
¢ (A) - O.H.P. (B) Epidiascope
(C) Gramophone (D) Magic Lantern
et 5 | & ot e ammit & 0
(A) Fu=d (B) Fax fawma 43
ey s (D) W
%

130. Main purpose of Evaluation is
A) to set question paper only o
é B)) to know learner’s performance and bring improvement
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(A) to set question paper only
(B) to know learner’s performance and bring improvement
(C) to maintain discipline
(D) to conduct examination only
e e 309 €
(A) Fael A¥-9 F4R HEA |
L8] sifermaal it Iueed AEHT TE AR AR |

(C) FFeE & T |
(D) et T HEH |

P

31. ose last step is remedial teaching ? \/ . _
(A) Inquiry model (B) Interpretive teaching
(C) Diagnostic teachin (D) None of these
I feror e o E?

(O e o, (D) ¥ & HE
f:.z Which of the foll s
o 1 . .
33 i ollowing body part o:‘ ;;anm ‘l;a:lo:d 0w’
(C) Ovary (D) Anther
fenifaper o & U a1 @ 1 AT sofo @ & o
A(A) W% (B) =
(C) wswH (D) RN
133. Which of the following bacteria is beneficial for mankind ? ~
< (A) Streptococcus (B) Salmonella
(C) Penicillium (D) Aboveall
Feptifepey shamopatt & & wra wifa & fog et & 1
LAK) B2 (B) HresHEr
(€) witfefean _{D) 3w
!}4.’ Gastric juice contains o
(A) Pepsin, Lipase, Renin (B) Trypsin, Lipase, Renin
(C) Trypsin, Pepsin, Renin (D) Pepsin, Trypsin, Lipase
T WA A & foNUS
(A) tfag, eeds, = (B) feftam, v, I —
(C) fefam, i, 3 (D) e, ffem, g

135, Which of the following is a micronutrient for plants ?
(A) Sulphur (B) Manganese

(C) Magnesium (D) Phosphorus
Frifepa 1 & Tl % ferg B mmmmh \_—
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S
() :,::ph:srium (D) PhOSPI;::;stq -
ﬁq‘rﬁﬁ{(C) 2 el 3 e e T A
:2; ki (D) R

i ) in man ?
i s synthesize and secrete testicular hormones (androgens Sy
ol e (B) Mucus cells

(A) Sertolicells D) Leydigeells
gﬁmmgomam @mquwmﬂ&f’!
© e

thy person is \—"
f the body of a heal
137, The approximate temperature © B) 37K

37°C (D) 37R
%gﬂﬂ*“ﬂ‘“ (B)m;:w '
() 37 ferht AT (D) 37FEH P.T.O.
(©) 37
Y
138, (76)
> (l:; lsle(o)q‘ual o how many dype 2
©) 100 (B) 10
o gy,
©) 10° A% 10°
(D) 100

139: Which mode °_f transportation of heat is essentially not required the medium ?
(A) C“"F’“F“"“ (B)  Convection
(C)  Radiation (D) Al not required.
ﬁqﬁﬁmd}mmaﬁfa&rﬁmmﬁmﬁm:ﬁmﬂh |
(A) aem (B) waw

V= fafem (D) 0t 9 spravgwa T8

140. The velocity of sound in air i1s taken as 332 m/s. If the pressure of gas is taken double,
then what will be the velocity of sound in air ?
(A) 996 nvs (B) 664 nvs

New Section 1 Page 45



St s waewwar o SvwnIG I AT 1S TAKEN a8 532 mys. It the S : double,
then what will be the velocity of sound in air ? T PEASEs CLiipe 1 S

(A) 996 m/s (B) 664 nvs

(C) 166 m/s Wl 332 mvs

;rjrﬂafamén 332 wiex wfe Fwve & | afs ag & 2w @ P o o R @ wfy wan

(A) 996 Hizz ufa FFvg (B) 664 Wz ofq Gz
(C) 166 HizT ufg dwvg (D) 332 e wfa dwve
141. The escape velocity from the surface of the earth is
) 11.2km's (B) 11.2nvs
(C) I1.2cmis (D) 11.2mm's
e & Y@ @ WIS an & 0 #

(A) 1.2 feirdier ufa Javs (B) 11.2 dtex ufa dwvg
1 1.2 T=2ster ufa @avg (D) 11.2 foeinditer ufa dwvs

(C)
| fibers are ™
v X;ur?:‘o:wcn (B) Wool
(€) Silk BT Al
e 191 & v’
(c) Fae AP

" f CaO and SiO, in Portland cement is v
. Composition percentage 0 :
A) p:0-45% and 10-15% (B) 85;33% ;‘Edsg? q';,':‘ ”
(C) 60-68% and 17-24% (D) 3-10%
: @ﬁﬂ"EﬁCaOaﬁtsmzﬂw
(B) 85-90% 31T 40-45%

0,
(A) 40-45% 3T w"s; (D) 3-10% 31 80-90%
\Sg}/ 60-68% 3R '7;34 °
sT-2 ) Y
. Examples of Web Browser are
(i) Mozilla (i) Opera
(in) Netscape Navigator (iv) Netscape
(v) Internet Equorer (vi) Mozilla Firefox
(A) (‘)v (V) & (YI) (B) (in), (iii) & (iv)
;(.") (1), u)&(m)t B yAll of the above
ATAT & J|ETE
(i) wifser - (i) -
(iii) ey Fditer (iv) Fe=hv
(v) ¥R vaERT (vi) wifen s -
(A) (i), (v) 3T (vi) (B) (i), (iii) 3% (iv)
(C) (i), (ii) 3T (iii) e Jdt

145. Asteroids are found in between the orbits of

AN Qatiion and liualtes i AMMave and liunitor
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145. Asteroids are found in between the orbits of

‘

{A..

(C) (1), (i) 3T (iii) \ 97 39wl

(A) Satum and Jupiter Mars and Jupiter

(C) Earth and Mars (D) Saturn and Uranus
sjzwE foet & sl ddg Huw A &0

(A) wf v geefa e _(B) e vd gewia uE
(C) gt ud He W (D) wf ud g=a wE

146. SONAR is used for

(A) Measuring distance, direction and velocity of objects in water.
(B) Measuring distance, direction and velocity of objects in air.
(C) Measuring distance and direction of objects in water.
(D) Measuring direction and velocity of objects in air.
fae= & few “arARe i @ | e &
a1t o Fewger foogt @t g8, feen wa e o & o
(B) arg # fega favel @t g@, feen wd e e & ferg
(C) it feerer frot @) gt vdl feam et & forg o
(D) arg ¥ feoe foost @ fean wd e A & fo o

147. Which of the statements about the reaction given below are incorrect ?

2P0, + €,y — 2PbS,, + COy,

(i) Lead is getting reduced. _ Us
(i) Carbon dioxide is getting oxidized. g 0 ':14
(ii1) Carbon is getting oxidized.

(iv) Lead oxide is getting reduced. .
(B) (1)and (in)

(A) (i)and (ii)
(C) (i), (ii) and (ii1) (D) All
g @ 17¢ afafEar & Ge § B W G HEA 2

ZPbO“, + C(s} - 2Pbs") * COZ(S’
(i) e st @ we |
(i) wd setEREs Ivafa @ wWE
(iii) T Iyara R w k|
(iv) g sireams satd @ @8 |
(A) ()T (i)

- (D) I @i

(C)" (i), (i) Td (iii)
P.T.O.

(;) M=FeSO4,X=Fe0.Y=SOZ.Z-SO
J(“2))-=!~‘ez(so,,)3,x=1=e20_,,.v=so Z=H,0
l M=Fecr v e o o
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B =
\/(@;) Fez(804)3,x Fe20 Y= 80,,Z2= H,0
M= FeSO +X= Fe20 Y =80

149,

L

&7 boiling point.

T T TS0, Z=50,

X »Z=50,
(D) M =Feys0,),. X = Fe0, v - 80,.Z=H,0

ﬁmmmtmm

2FeSO, - THZO—E‘_)M_LW_., X+Y+2Z
(A) M =FeSO,, X =FeO, Y = S0,, Z = S0,
_(B) M= Fe) (SO, X = Fe,0,, Y = 80,,Z = H,0
(€)M =FeSO, X =Fe,0, Y =50,.Z = SO,
(D) M =Fey(80,),, X = FeO, Y = $0,, Z = H,0

o .

Latent heat of vaporization is V4
(A) the heat energy required to change 10 g of liquid to gas at atmospheric pressure at .-':
boiling point. |

tB) the heat energy required to change 1 L of liquid to gas at atmospheric pressure at its

the heat energy required to change 1 ml of liquid to gas at atmospheric pressure at
its boiling point.

(D) the heat energy required to change | kg of a liquid to gas at atmospheric pressure at
its boiling point.

QT &l T T E _
(A) ®9 F @F HE A 10 U FE W AGEUSHIY g/ 3T 29 % sageis 7 hdg semd
gftada s & o smavas @dt & | .

(B) @19 @ @ UEn A | #eY 58 # agRvsen Tm st ga % aauais o

uftada w3 & fe Havas e & | I
(C)y T @ a8 7E faelt 2 # aguvesE T 3t wa ¥ Fauie W@ A0
ftads w04 & ferg smavas #d & )
(D) @9 = @ " s 1 T w5 “W‘Fﬁ'ﬂma\tm%mﬂ
frad= & fee smavas @ ¥ | :

How many number of particles will be in 8 g O, molecules ? ){//

150.
Ay 151x108 1.51 x 1023
(©) 15.1 x 10" (D) 1.15x10'3
smmmﬁmﬁﬂmﬁrﬂ
(A) 15.1x10% (B) 1.51x10%
(©) 15.1x10" (D) 1.15x10"3
N a e Crr~ 109 . e T R
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V- 25— SST-LA

(79)
SECTION - 1y(h) /g " @
~1Iv
SOCIAL srumzs;m&m (b)

There are 60 questions in all in this sacs:
In this sectj ,
must answer a|| the questions. on. The Candidateg

wmﬁwmmhmwmm

9. A candidate 1, get

§T-2

who have selected this subject
a:rmﬁmta%m’tmmaﬁmh

(B) 35 years old
(D) 21 years olq

(B) 35 mm
© (D) 21w

92. 44" Amendment to the Consgir: :
stitution of Ind : : :
the fo!lowing Prime Ministers 7 12 was made during the period of which one of

(A) Indira Gandhj (B) Chandra Sh kh

(C) ChoudharyChara'm Singh Morarji Des:i )
.Wuaﬁmﬁlnﬁnfafaaﬁhawmﬁa}%mﬁhmmm

(A) 3= windt (B) wzviar

(C) il'f!r&imﬁz (D) mm

93. Who was that Supreme Court Judge against whom the process of impeachment was
Started but he could not be impeached ?

(A) K.G. Balkrishna V. Ramaswami

(C )) Somitra Sen \%(Su'alanlra Kumar
mmwﬂqmmﬁth&ﬁm%ﬁﬁuﬁmmaﬁwﬁfﬁ

TR UT T gt W 0

(A) %, arerpan (B) & Immand

(C) i ax (D) =7 $aw

I. Twelfth Schedule of Indian Constitution deals witl}
(A) Panchayati Raj System W agarpalikas

' ion- Relations
(C) Languages of Union (D) Union-State
WA Hiay #i ared! g watyd ¢ .
(A) vamEr T & (B) Tmuferamat .
(C) &% i ymiai & DY -1
Who was that Vice President who died during l(l;s .tenure ?
(A) Dr. Radhakrishnan :g]) I\in\’s]m ;::am
b e g o 2 o e ¥

(B) @ial

(A) =i T (3)

- ™ A A
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TE FI TT IR 9T STHH TEIT Y DI4bier D Sit gl 7

(A) & T ® S
ey @, ot O
P.T.0.
Y 80
96. The percentage of total land area of the eanh)is s
(A) 320
LB 303
(C) 290 (D) 284
T 1 e i 3 o & .
(A) 320 (B) 303
(©) 290 D) 284
97.  The lowest layer of atmosphere is
(A)  Stratosphere (B) Troposphere
(C) lonosphere (D) Ozonosphere
TGOS B TR Fraett wa &
(A) w9am qugs LB) sz
(C) Frmues (D) sirmUEH
98. A common term used for all the exogenic geomorphic processes is
(A) Diastrophism (B) Weathering
(C) Carbonation (D) Denudation
wmqamm&tmwmmmﬁm tawt
(A) ves-fawgu (B) ¥wg
(C) wErwA \ P
99.  The cyclic flow of chemical elements between organism and environment in biosphere is
known as
(A) Gaseous cycle (B) Biogeochemical cycle
(C) Water cycle (D) Geomorphic cycle
sta quge # St U1 vatawoT & Heq TEEf avel & 9 Waw S A A g
(A) it BT S T T
(€) e (D) R

100. Which one of the following is not a metamorphic rock ?
(RY Marhle

Y I levvantana
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100. Which one of the following is not a metamorphic rock ?

ST-2
101.

102.

103.

(A) Limestone (B) Marble
(C) Quartzite (D) Slate
Prfefian o & @ 9 g FRRRE e T &2
(A)y g T (B) TR
(C) e (D) e

, . 81)

g:;e\f'l,:lf“::u:?;m the inscriptions of Harappan Culture (Indus Valley Civilization) areY
(A) Rocks \/(»{ Seals

(C) Pillars (D) Copper Plates

wgwr Gt (fay il waan) & fiela gea: fee awg woa fet £

(A) Toremati w (B) el W

(C) wamif (D) W TE W

The central place of Aryan Culture during Later Vedic Age was

(A) Sapt-Saindhav Pradesh | (ByDoab of Ganga-Yamuna

(C) Magadh (D) Deccan

e Afes Hier § A T H FEG & ol

(A) B FH WA (B) T DI
(C) WM™ (D) @&

The author of the famous book entitled *Bharat ke Prachin Nagaron ka Patan” (Urban
Decay in India : 300 AD - 1000 AD) is

(A) Radha Kumud Mukerjee (B) Romila Thapar
(C) D.D. Koshambi (D) Ram Sharan Sharma

e & e Al 1 ga (Urban Decay in India : 300 AD — 1000 AD) % WfaE T
FAEHE

(A) TEFTE T (B) e R
() @& wm Ay R I
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(A) =g 33— v

THRToT I
() @& wm o1
. '« Rioht to Separate Residence and Maintenance Act’ was
104. When ‘Hindu Married Women’s Right 10 5¢pd
92
enacted ? @ 1956
\:;/ 1 (D) 1977
1946 ] i g2
sygor.ruT SRR H
e S T3 o I P T
A (B) 1956
(A) 1955 ;
(D) 197
(C) 1946 : . P.T.0.
i
Y
105. The year of 1856 was signifi ] (82) ST2
gnificant in the history of Indian Society because of

106.

107.

Hindu Widow Remarriage A
(B)  An Act against female ::fantlz::sw:s;:sed
:g; :: Act against Sati System was passed. .

Act against Witch-hunting w

WA T & shwr F 1856 mﬂmﬁﬁ% '
(A)  Tog Favar gfaame sifufay aifa &3 | ‘ '!
(B) =1 oy & fasg sHfufran wifte gam |
(C) et wor % favg Ffufrm aifta e |
(D) =1 wen & foreg sxfufivam aifeer o |

Which period in Indian History has been attributed as *Classic Age’ ?
The age of Guptas (B) The age of Kushans
(C) The age of Maurayans (D) The age of Mughals
wiera gfewr # sva g feg s & fo e g ko
(A) T HE (B) #umT He
(C) it e (D) T &
Under which dynasty the great sculpture of Bahubali situated at Shravanbelgola was built ?
(A) Hoyasalas Gangs
(C) Rashtrakutas (D) Chalukyas
srauderTien feaa agae @ meH wiam & Fmior e e § gan ?
(A) ®EHEe (B) M
(©) wgFE (D) g KL
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109.

§T-2
110.

1L

(A) €8s (B) Tm

(C) TP (D) 9fH

108. The author of ‘Indica’ is
(A) Kautilya |/(B)/ Megasthenes
(C) Pliny (D) Vishnugupta
fogwr & F@H ¢
(A) wifeed (B) B
() ferit (D) fawpra

Who built the *Vishnu Temple’ of Angkorvat situated in Kambuj ?
(B) JaivermalV

(A) Suryaverma |
(D) Yashoverma IIl

Suryaverma Il
et feger simepRare 1 fawy wf<T fa @am ?
(A) gdadil (B) ramt IV
(C) Hdamt 1l (D) FwEHt 111

(83)

In which major Rock Edict of the emperor Ashoka, we find the description of neighbour
countries ?

(2) F";‘I (B) Fifth

(C) Eighth (D) Thirteenth
W 3 % o e Farerer o wgidt v @ avi & 0
(A) waH (B) wam

(C) 3y By awal

Which of the following Novel of Rabindranath Tagore has the main character Nikhil, who
believes more in *humanity’ than patriotism ?

(A) Shesher Kabita (B) Gora

(C) Yogayog BT~ Ghare Baire

iz 2T ¥ P AT 6 W T e 2, o e @ agat e 1 favar T ¢ 7
(A) 91T wiaar (B)

(C) @ (D) wramt
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(C) (D) Wamt

112. Hindustan Ghadar Party was founded in the year

(A) 1916 (B) 1925
&y 1913 (D) 1922

fegear et Wil % v fow ad 1 2

(A) 1916 (B) 1925

(C) 1913 (Dy 1922
113. Diraham 1s

(A) Coinof Gold (B) Coin of Copper

(C) Coin of Silver (D) Comn of Alloy

fewem &

(A) @i @ LBy i @ e
\AC) a5 e (D) fafum urg 1 fem
114. The last expedition of Shershah Suri was against the ruler of

(A) Kalinjar (B) Marwar

(C) Ranthambore (D) Malwa

vieuTE & @ e s few e & faeg o ?

AAT Sl (B) ®REE

(C) ToMmiR (D) weEr

115. Under which Act the Sati system was banned in Bengal with the efforts of Raja Ram

Mohan Roy ? _
Regulation XVII AD 1820 (B) Regulation XX AD 1831

(C) Regulation XVIII AD 1856 (D) Regulation XIX AD 1829
mm%mtm@ﬁmﬂmﬁﬁmaﬁﬁw%mﬁiuMMnm

(A) Frama XVIIAD 1829 (B) fmmd XX AD 1831
(C) frama XVIII AD 1856 (D) Frwa XIX AD 1829

P.T.O.

Y

(84)
116. In which year the Amendment in Indian Constitution regarding Preamble was made ?
(A) 1975 \/(’Br 1976
(C) 1978 (D) 1992
et wfar ) weeraar § wvive feg ad F g 2
(A) 1975 (B) 1976
(€) 1978 (D) 1992
117. The Constitution Amendment which is related to Right to Education is
(A) 42" Amendment (B) 52™ Amendment
(€) 61" Amendment (D) 86™ Amendment
sidwifaas s At o & aifusre § wafaa &
DGR S i )
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(C) 61" Amendment (D) 86" Amendment

ar Hdufae den it foren & sfusr @ gafa @

(A) 42ar "y (B) s2al quieA .
(C) 61&T "oy (DY~ 86aT Heie

118. On the basis of which Committee’s recommendations the fundamental duties have been
incorporated in Indian Constitution ?
Sardar Sawaran Singh Committee
(B) Ashok Mchta Committee
(C) Sadig Al Committee

(D) Hegde Committee
Gy sty ) ol ® S T WA war § e wde e T 2
(A) @R @ fag wfEfd

(B) 3¥vites dgan winfd

(C) wifes sreht wfafa

(D) #mg wfufa

Government of India appointed Kaka Kalelkar the Chairman of the Commission for other

119.
Backward class. The year of appointment was
(A) 1951 1953
(C) 1955 (D) 1957
A TR 3 FH Feea B 3 feg @i syt @ s Frgee e, Prgfa @ ad o
(A) 1051 (B) 1953
(C) 1955 (D) 1957
120. In the Constitution of India secularism means

(A) State has its own religion.
(8) State has no link with religion.

(C) State has no religion of its own.
(D) State recognizes all the religions but has no its own religion.

e & wiaur 1wt & o ¥
(A) T & HGA UH E |
(B) TG % ud @ HIE Y TR

(C) T 1 H g ud TR
Wmuﬁuﬁﬁmmtqﬁmmﬁﬂﬂqﬂﬁmh

|
ST-2 — (85) ¥
121. To which age does the artistic spl i j
O Peas ic sp en(dé))ur téfh.:‘l::::en and Rajoregarh belong ?
(C) Guhil-Sisodiya (D) Rathore
MR AT TR & Horiers v e Hiet % £ 0
(A Tstrufaen m she
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“(C) Guhil-Sisodiya R —
mﬁﬂmm#mm%ég?gr
(%) TR 8) e
(C) few-famifea ©) Ty

122. (Sx;:ialESludies 1s supposed to study
conomical relations of man.(B) Political relati f
C) Social relations of m i raohical relath
v an. (D) Social
6 O'J/ « i ) al geographical relations of man.
(A) =fm & anfas gt (B)  &faa & oorifas gl &1
(C) wufam & amifas wadi &1 (D)  wafaw & anifors-siniifers wwaul i

123. The concept of Social Studies “The Social Studies are those studies that provide
unc!erstandmg of man’s way of living, of the basic needs of a man and the activities in
which he engages to meet his need and, of the institutional he has developed” is given by
{g; \Je;lta . (B) hn Michaelis

P. Motta Encyclopaedia of Education Research
AT AT % T F WA HAG aF WA § 9 HAa e & -9 & @,
SravEH, fHas, f W we sravawas # g & fau @ e & a

e
ﬁwsﬁ.&vwmmﬁwrtwmmmtr'mmmw%?
(A) @& (B) it mmgdferst

(C) uHH qwE (D) UTEEEEniTEar i v Rad

124. The fact which is studied under the area of Social Studies ?
(A) Study of Social relations (B) Study of Human relations
(C) Education of C itizenship (D) All of the above
¥ stg & F=aia e | | e a0 anage faan swen & 2

grfas g
(A) TR g s (B) WHEg qral & AeEg

(C) A @i fow ety 3w anit

125. The teacher of Social Studies is expected to keep in mind the following fact is natural :
(A) Clear vision in the relation of specific facts and thing.
(B) Concept of general fact or qualities.
(C) Establishment of fact. rule, definition, knowledge and method.
(D) Allofthe above.
mﬁww%mﬁmiﬁwﬁﬁﬁﬂmﬁﬂmﬂﬂ e T T@E € ?
(A) fafere amdt qur e % ey e faan
(B) @R wal Uil @t SEaRen
(¢) , Frgm, e, faer sl wfefis st #T

By 3T _
126. How much portion of tim(;:j ihould be given to the
social studies during a period 7
60 percent (C) 50 t (D) 20 percent .
Qra;psm:nréﬂg;mqﬁwﬁmm%wwmmm%mm
W T =6l ?
(A) 4o wfawa (B) 0 wfea  (C) so W@ (D) 20 wfeera

QoNUS

statement-guidance while teaching

P.T.0.
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Y

(86)
127. Evaluation IS a process of .

(A) Determining the extent of the achievement of objectives
(B) Ascertaining the quality, vajye of outcomes,

(C) Comparing the outcomes of instruction
BT All of the above,

T 3 i &

(A) Waﬁmﬂ’h%faﬁwwﬁﬂhw
(B) qﬁmﬁaﬁmaqﬂmﬁvwam
(C) maema;wﬁvnﬁahmm

(D) Iwfewm wit

128. The use of teaching leaming material in Social Science do
(A) Makes the lesson lengthy.
(B)  Students get bored.

I),G)" Both the above statements are wrong,
(D) Both the above statements (A) & (B) are true.

s sneree oo 3 foegor s s 3 s
(A) & Ht Fw wwar f |

(B) B 35 a7t ¥ |

(C) 3w i v arweq § |

(D) 3w < % (A) 3T (B) wew § |

129. Which Scientist gave the behavioural form of Project methods in education system first of
all ?

(C) Stevenson (D) None of the above

mmﬁmmmﬁWMmeh?
o (B) . Touw. erdfes
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ST-2
130.

131.

TTT oYY vy

(A) T (B) ¥ T, erdf

The three stages of evaluation dimension are
1. Determination of Educational objectives
2. Providing leaming experiences

3. Evaluation of Behavioural changes
The above stages are given by

B.S. Bloom (B) Herbernt
(C) Skinner (D) Thomdike
T HAW & e A wE e
. e v & o
2. WY & NG WEH A
3. oHEEr iEda # qedied s
wmﬁmﬁhﬁﬁﬁmm&ﬂnﬂh
(A) #uE aH (B) ##
() faw (D) drER®
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o - (D) Wﬁﬂmﬂ

Match the following : v

:I!. 3x;mm a. Evaluation dimension

P w b. Memory level

il n c. Undcrstanding level

d. Reflective level

2 3 g

Ay d ¢ b g4

B) b d a ¢

Uer’a b o g

D)y d ¢ a

=1 =1 w@ e <o -

| iﬁ;m;.[q A HEETEA HEm

p) gae b. qﬁm

3., dhem c. AT

i ¥ d.  Fewaww
23 4

(A) d ¢ b a

B) b d a ¢

(€ a b ¢ d

D d ¢ a b



(A) <Lyt =

(C) @t (D) gFERE
132. Which is not an abiotic resource ?
(A) Soil (B) chk
(C) Plants (D) Minerals
F 41 3ot GENA A6 &7
(A) w1 (B) 9EH
Oy (D) @i
P.T.O.
Y

o (88)
133. Which is not a correct statement ?

(A)  Parent rock and ¢lim
(B) Humus is found in 11
(C)  Altitude and slope determine accumulation of soil.

D * i N o 2 s ) ) ) )
gﬁ_‘)‘ mT:;Fr:%:;‘ 1:1;‘1 X ;; minerals and organic matter make the soil fertile.

atic factors determine the soil formation.
‘e deepest part of the soil,

(A)_ w71 Feion % v s stas vher a1 2w st stevamgfads @0 ¥ |
UMY R 0 5 e el s o et

(C)  I=as qren 3ir arer w1 & wew & Fifea st &

(D) @t ud SHfaw vendt @ w fasor g2 @ 9o @@ |

134. Among following which is the leading copper producing country in the world ?
(A) South Africa BT Chile
(C) Australia (D) Ghana
fr=fafaa o 2 fava &1 %13 @ 20 smolt dvar 3as 22
(A) =haoit sndian (B) fas
(€) =i (D) =
135. Which is not a conventional source of energy ?
(A) Geothermal energy (B) Petroleum
(€) Hydel Power ‘ _ (D) Natural Gas
&I A TTEETTE HA1 & #id TR g
) YT Fe (B) eiferam
(C) wetagd (D) wrHfas 15
136. Which 1s not a correct match ?
Shifting Agriculture Country/Area
(A) Milpa Mexico
(B) Jhuming North-East India
(C) Roca Brazil
\)91’ Ladang - Sn Lanka
& |1 gufera 7@ & )
AT Fa /e
(A foem RIEEED
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I HI HHIOa BB

AR H Z9U/AT
(A) fae afaa
(B) #fHm - I
(C) TE - Arate
(D) @& : A
137. Which is the highest peak of the Peninsular India ?
(A) Doda-Beta Anai-Mudi
(C) Mahendra Gin (D) Kodaikanal
ragdr wra @ wated forat w1 |
(A) ErEad (B) R
(©) (D) HERETA
ST-2 (89)
138. In which part of India, arrival of Monsoon is earliest ?
(A) Kerala ¢y Andman and Nicobar Islands
(C) West Bengal (D) Tamil Nadu
s 3 fea s H e e W wa AT R
(A) F& (B) 3vgw 3 Feptar £10 T
(C) et dmre (D) fwerTg
139. In which region of India tropical rain forest is found ?
(A) Malwa Plateau (B) Kamnataka
(C) Eastern Ghats \AD) North-East India
A % o wdw i S Hfeada aufer fred & 2
(A) THIEET S 9K (B) #AleH
(€) e (D) Fa-gat R
140. Which one of the following is not a center of iron and steel industry in India ?
_AX) Bangalore (B) Salem
(C) Dolvi (D) Durgapur
wra o Frifefaa o | $4 11 uF wie-gwd 30w S w9 87
(A) SR (B) dew
(C) el (D) FE
141. In India, States having highest and lowest density of population in 2011 were
w%f) Eihal.‘ and‘TR?:ll:a EE)\ I\T:est pB:.::galh an::]rl Akr:fnachal Pradesh
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141. In India. States having highest and lowest density of population in 2011 were

Uy (A) Bihar and Tripura (B) Waest Bengal and Arunachal Pradesh
W ikki Jttar Pradesh and Mizoram
~—C) Keralaand Sikkim ’ (D) L tta :
5011 T AT 3T YAAH FAHEA T dqNel A b 7 8
(A) faer 3 Brgu (B) gl @miet 30T Sw0Tae wa
(C) e 3w s (D) ITWEY 3 e

142. Bhorat Pathar is located between
(A) Raghunathgarh and Nahargrh (B) ~Achalgarh and Delwara
(C) Kumbhalgarh and Gogunda (D) Jaigarh and Nahargarh
HIRZ 1 TR fe &
(A) VAW ARG WA (B) HIAE AN oA F WA

\}Q/WWW*W (D) “1aTg 3N ARG F 9

143. Which of the following is not a traditional method of water conservation in Rajasthan ?

(A) Khadin (B) Tanka
(C) Toba (D) Nali
Frefefiaa & / #i= d@ ToreE F WoReE se @ @ faf @ 80
(A) @EH ' (B) 2@
() Py A
P.T.0.
Y (90) ST2
144. Which is not a correct match ?
Minerals Mining area
(A) Tungsten -~ Degana
(B) Lead & Zinc - Rajpura-Dariba
(C) Copper - Singhana
Mica -]
B T e 8 &0
afa= AR
(A) @med - T
(B) ¥ air e - oquada
(C) ifan - feamn
(D) avww — HHHT
145. Which is not a centre of chemical industry in Rajasthan ?
(A) Deedwana (,(«B’r Sawai Madhopur
(C) Kota (D) Alwar
TSR § S T T6E 30T 1 % 781 &2

(A) SteaF  (B) war My (C) ®a (D) FeraT

146. Which d_istn'cts of Rajasthan was having more than 500 density of population in 2011 ?
. Ei\))( {qpur - f.lwar (B) Bharatpur - Dausa
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Rt S e 4 - g et A % A B

146. Which districts of Rajasthan was having more than 500 density of population in 2011 ?
(A) _ Jaipur - Alwar (B) Bharatpur - Dausa

Jaipur - Bharatpur (D) Jaipur - Dausa
2011 % TR % B R et 7 500 & s st g &0
(A) W[ - Ferar (B) Wt - |

(C) AR - wag (D) g - e

147. The Prajamandal of which princel y State had observed ‘Krishna Day’ in 1936 ?
(A) Udaipur (B) Kota (C) Karauli (D) Jodhpur
fe widta % womveet 3 1936 ¢ o gwon feaw wamr o
(A) @R (B) H& © ®hef | Dy g

148. In which district of Rajasthan a *“War Museum® was established in August, 20152
(A) Sikar (B) Jaisalmer (C) Jodhpur (D) Barmer
T & fw foet o g s @ w s, 2015 LEOE S

(A) Hi#t W (C) MR (D) amEar
149. Which Chauhan ruler was entitled as ‘Kavi Bandhay' ?
(A) Vigraharaj IV (B)  Prithviraj Chauhan [1]
(C) Aranoraj (D) Ajayraj
Hfa Ty F 30l e de v 5t o 0
\/(M/ fermgrar aae (B) g e et
(C) aurirsy (D) T

150. To whom did Col. James Tod dedicated his travelogue *Travels in Western India’ ?
(A) Lord William Bentinck (B) Lord Minto

(C) William Hunter Blair (D) Yati Gyanchandra
Wm#mmm‘WWMMMWM?
(A) @i faferam dfew (B) g fier WU
(C) faferam g7 =gy (D) g BON =
[
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